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Which city has been designated to
host the 2020 Summer Olympic
Games ?

- (A
- ®
(C)
(D)

Who has been recently appointed as
- the coach for Indian Cricket Team by
BCCI ? |

(A)
(B)
(©)
(D)
Who among the following has been
awarded Dada Saheb Phalke Award
recently ?

(A)
(B)
(C)
(D)
"~ In which year RTI Act came into
force ?

(A) 2003

- (B) 2004

(C) 2005

(D) 2006

Which Article under the Indian

Seoul
Tokyo
Brisbane
Barcelona

Saurav Ganguly
Ravi Shastri

Anil Kumble
Chetan Chauhan

- Anuparn Kher
~Naseeruddin Shah
Rajnikant
Manoj Kumar

Constitution pertains to special

status of J&K?
(A) Atticle 350

OL-1A/25 .

(2)

10.

A

(B) Article 360
(C) Article 370
(D) Article 380

In which year SAARC was formed ?
(A) 1970
(B) 1975
(C) 1985
(D) 1990

Who is the founder of WIPRQ ?
(A) Azim Premji

- (B) Narayana Murthi

(C) RatanTata
(D) Sundar Pichai

The Headquarters of UNESCO is
located at :

Rome
Paris
Madrid
London

(B)
(C)
(D)
United Nations was formed in the
year :
(A)
(B)
(€
(D)
Who among the following has been
honoured with Bharat Ratna ?

(A) Rahul Dravid

(B) Kapil Dev

(C) M. S. Dhoni

1944 .
1845
1947
1949

{D) Sachin Tendulkar
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11.  Which country won the World Cup  16.

Soccer Title in 2014 ?
(A) Gemany

(B) Argentina

(C) Holland

(D) Brazil

12.  Who s the present Chief Minister of 17.

- Andhra Pradesh ?

(A) K. C.R.Rao

(B) Chandrababu Naidu
(C) Y.JaganReddy

(D) Janardan Reddy

13. Who wrote the book, TRAIN TO
PAKISTAN ?

(A) Nayantara Sehgal
(B) Inder Malhotra
(C) Khushwant Singh
(D) Amrita Pritam

14. In which year, WIKIPEDIA was
founded ?

(A) 2000 19.

(B) 2001
(©) 2002
(D) 2003
15. EININO Phenomenon is associated
with:
(A} Cloud Bursting
(B) Earthquake
(C) Global Warming
(D) Acid Rain

OL-1A/25 (3)

18.

British concluded Treaty of Bassein
on 31st December, 1802 with

(A) Sindhias
(B) Holkars

(C) Bhonsles
(D) Peshwas

State Demand under the Permanent
Settlement was fixed on .

(A) 89 percentofthe rental

'(B) 11 percent of the rental

(C) Bothofthe above
(D) None of the above

Which was considered as Magna

Carta of English Education in India ?

(A) Macaulay's Minute, 2nd
February, 1835

(B) Resolution of 7th March, 1835

(C) Woods Dispatch on Education,
1854

(D) None of the above

What was the real intention of British

Government behind the partition of

Bengal ?

(A To bring administrative
efficiency

(B) To stem rising tide of nationa-
lism

(C) To provide separate province
to muslims

(D) To provide growth to Bengaii
literature

( Turn over)
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20.

21.

22.

- 23,

Congress had decided to start First
Civil Disobedience at :

(A) Allahabad

(B) Bombay

(C) Surat

(D) Bardoli

Resolution of Poorna Swaraj was

passéd in.. |

(A) Lucknow Séssion of Congress,

1916 |

(B) Gaya Session of Congress,
1922 |

(C) Calcutta Session of Congress,
1028

(D) Lahore Session of Congress,
1929 -

Sir Syed Ahmad Khan had earned
Knighthood in:

(A) 1857 AD
®) 1876AD

(C) 1878 AD

(D) 1888 AD

The only Annual Session of the
Congress presided over by

‘Mahatma Gandhi was :
(A) Kakinada, 1923

(B) Bélgaum, 1925

- (C) Karachi, 1931

(D) Guwahati, 1926

OL - 1A/25

24,

25.

26.

27.

28.

Who among the following was not
associated with Trade Unitn
Movement ?

(A} M.N.Joshi

(B) Dewan Chaman Lal

(C) Swami Sahajanand

(D) V.V.Giri

Who was the Chairman of the First
Famine Commission in 1880 ?

(A) SirRichard Strachey

(B) SirMacDonnel

(C) J.B.Lyall

(D) T.Morrison

When was the First Factory Act
passed in India ?

(A) 1881
(B) 1891
(C) 1901
(D) 1911

Whén were Bhagat S'Engh, Sukhdev

and Rajguru sentenced to death ?
(A) 7th October, 1930

(B) 6th February, 1931

(C)y 27thFebruary, 1931

(D) 23rd March, 1931

Who was the editor of Inquilab (from
Lahore)in 1923 7

(A) Mahatma Gandhi
(B) Ghulam Hussain
(C) Bhagat Singh

(D) Jawahar Lal Nehru

"~ Contd.
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29..

@)

Communal Award announced by -

British Government on 4th August,

- 1932 gave aseparate electorate to ;

(A) Muslims

Depressed Classes

(C) Sikhs
(D) None of the above
30. Calcutta Corporation Act, 1899 which
reduced the strength of elected
members was passed by :
‘@) Lordliyton
(B) - Lord Ripon
(C) Lord Curzon
(D) None of the above -
31. The 'Vale of Kashmir' lies between .
| (A) Pir Panjal and Karakoram
Range | 7
(B) PirPanjal and Zaskar Range
(C) Zaskarand Ladakh Range
(D) Shiwalik and Ladakh Range
32. Which one of the foliowihg'countries
.is the major producer of mica?
(A) India
(B) U.S.A.
(C) Brazil
(D) China
OL-1A/25

33.

34.

35.

36.

37.

(5) .

(B)
- {©

®
(C)

Which of the following was the eariiest
regional planning exercise in India ?

(A)
(B)
(€)
(D)
The habitat of the Toda tribe is
(A)
(B)
(C)
(D)

The ‘Durand Line’ i.s the boundary

National Capital Region Plan
DandakaranyaArea Plan -
Damodar Valley Project
Bhakra-Nangal Project -

Aravalli range
Siwalik range
Kaimur range
Nilgiri hills

between :

(A) India and Pakistan -
.Iran and Pakistan
Pakistan and Afganistan

Pakistan and China

(D)

Which of the following places in India -
ranks second among the coldest
inhabited places in the world ?

(A)
(B)
(©)
)

The Athabasca Tar-sand is famous
for the deposit of :

(A)

Dras
Itanagar
Manali

Mana .

Copper
[ron-ore
Petroleum

Uranium

(D)

(Turn over)
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38.

39.

40.

41.

Marquette range in U. S. A. is known

for:

(A) Uranium
(B) Copper
(C) Gold

(D) Ironore

Who are the earliest migrants from
Europe to South America ?

(A) Britishers

(B) French

| (C) Portugueses

(D) Spaniards

When was the first synchronous

census of Indian population

held ?

(A) 1872

(B) 1881

(C) 1891

(D) 1911

Varanasi — the ‘cultural capital of
India’ — is mainly associated
with :

(A) Shaivism

(B) Vishnuism

(C) Shaktism

(D) Sikhism

OL —1A/25

42.

43.

44,

The Constitutional Amendment
relating to the declaration of
emergency (1978) require the
President of India to act in
accordance with the :

(A) Collective advice of the entire
Council of Ministers

(B) Advice of the Union Cabinet

(C)  Advice of the Attorney General
of India

(D) Adbvice of the Supreme Court

Disqualification on grounds of
defection for a member of Parliament
will not apply :

(A) Incase of a splitin the original
political party to which he is
elected

(B) Ifhe has voluntarily given up his
membership of a political party

(C) If he abstains from voting inthe
House contrary to the direction
of the political party

(D) If a nominated member of a

~ House joins a po!itical party
after six months

Which one of the following shall not
be considered an adequate ground
for the issue of a proclamation of
national emergency ?

(A) War
(B) External aggression
(C) Armed rebellion

(D) Internal distrubance

Contd.
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45,

" (©

46.

47.

The Supreme Court of India Is
different from its counterpart in the

U.S. A

(A) Inits role as the guardian of the
Constitution

(B) Inits advisory role
In its role Vas the Sljpreme
authority in the judicial field in
the country

(D) Inits writ j‘urisdiction

Which one of the following items
comes under the Concuirent List of
the Indian Constitution ?

(A)
(B)
(C)

Inter-State rivers
Trade Unions
Citizenship

(D) -Local Government

The Directive Principles of State
Policy included in the Constitution of

India have been inspired by the

‘Constitution of:

(A)

(B)
(C)

USA
Ireland
Canada

(D) Australia

OL-1A/25

(7)

48.

Match List— | with List— Il and select
the correct answer from the codes
given below the lists :

List—1 List—H
(Federation) (Amending
' - procedure)
(i} U.S.A (1) Amendments
affecting the units
require ratification
by half of their
existing number
(i) India (2) The federal

() Switzerland (3)

(iv) Australia

government has no
confrol over the
Constitution of the
units

50,000 citizens can
request a constitu-
tional amendment

The legislature of 2/3"
of the units can
apply for amendment

(4)

The units have no
power to initiate
constitutional

(3)

amendments

Codes :

| Il 1w
(A) 1 5 3 4
(B) 5 2 1 4
(C) 3 4 1 2
(D) 4 5 3 2

(Turnover) -
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49,

50.

- 51

52,

The power of Supreme Court of India
to decide the dispute between the
centre and states falls underits :

(A) Advisory jurisdiction

(B) Appellate jurisdiction

(C) Original jurisdiction

(D) Constitutional jurisdiction

The Cuban Missile Crisis and the

building of the Berlin Wall were :

(A) Crises that followed Vietnam
War

(B) Crises during the Cold War

(C) Crises that led to World War |

(D} Crises during the post-Cold
War

Which country’é Political Party
System has been described as
‘Empty Bottle’ by Bryce ?

(A) England

(B) USA

(C) Australia

(D) Nigeria

The concebt of separation of powers
was given by :

(A) Montesquieu

(B) Machiavelli

(C) EdmundBurke

(D) Samuel P. Huntington

OL - 1A/25
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53.

54.

55.

56.

The unlawful detention of a personis

questioned by the writ of :
(A) Habeas corpus

(B) Certiorar

(C) Quowarranto

(D) Mandamus

“Right to Education” has been placed

in indian Constitution under :
(A) 86" AmendmentAct
®) 81%'AmendmentAct
(C) 73" AmendmentAct

(D) 91%'AmendmentAct

The book “Twenty Years’ Crisis” is

written by :

(A) Hans Morgenthau
(B) E.H.Carr-

(C) Kenneth Waltz
(D) Woodrow Wilson

Which of the following is the correct

definition of ‘economic growth’ ?

(A) Increase in productivity of

labour over time

(B) Increase in productivity of

manufacturing sector over time

(C) Increase in per capita real

GDP over time

(D) Increase in GNP overtime

Contd.

https://www.freshersnow.com/previous-year-question-papers/




57.

58.

59,

60.

OL-1A/25

Which of the following institutions
estimates the national income of
India ?

(A) The Central Statistical Office

(B) The National Sample Survey
Office

(C) The Reserve Bank of India

(D)

In September 2015, the United

Nations

announced a set of 17 Sustainable

The Government of India

General Assembly

Development Goals. One Goal is
contained in the following. Chooseiit:

(A)
(B)
(©)

Strengthen bureaucracy
Introduce free market economy
Reduce inequality within and
among countries

Restrain inflationary price rise

(D)

Who told, “We are trying to construct
a more inclusive society. We are
going to make a country in which no
one s left out” ?

" (A) Manmohan Singh

(B) Mohandas Karamchand Gandhi
(C) Franklin D. Roosevelt
(D) Winston Churchill

Which period is referred to as the
period of population explosion in
India ?

(A) 1901 — 1921

(8) 1921 - 1951

61.

62.

63.

(9)

(C) 1951 — 1981
(D) 1981 — 2011

In which of the following major States
of India, the Gross Enrolment Ratio
in Class |-VIIl during 2014-15 is the

least ?

(A} Bihar

(B) Chhattisgarh
(C) Odisha

(D)

Telengana

From the following, identify the most
appropriate strategy of the National
Health Mission 2013 ;

(A)
(B)
(©)

108 Ambulance facilities for all
Stopping open defecation

Universal access to equitable,
affordable and quality health
care services

(D) Strengthening the medical
education infrastructure in the

country

The first ever National Health Policy
of the Government of India was given

in the year :
(A) 1980
(B) 1983
(C) 1991
(D) 2002

( Turn over)
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64.

85.

66.

Which of the following organisation
has developed the Universal Health
Coverage Index ? |

(A) International Monetary Fund
(B Washington Consenéus

(C) WordBank

(D) World Heatlth Organisation

When was the National Food

Security Mission launched in India

and what were its components ?

(A) April 2007 : Wheat, Maize,
Pulses and Sugar cane

(B} May 2007 : Rice, Wheat and
Pulses

(C) September 2007 : Rice,
Wheat, Pulses and Coarse
Cereals

(D) October 2007 : Rice, Wheat
and Pulses

What is carbon credit ?

(A) Itis the difference between the
carbon emission allowed and
actually emitted carbon

(B) Itis the loan amount by IMF for
reducing pollution

(C) Itisloan given to poor people
for buying Modern Stoves

(D) Itis the fine amountimposed for

excess emission of carbon
dioxide

OL-1A/25

67.

68.

69.

70.

(10)

The main pollutants responsible for
causing green house effect, acid rain
and ozone layer depletion are :

(A) H,0, CO and CFCs
respectively

(B) CH,, CO, and NOx
respectively

(C) CO,, CFCs and O,
respectively

(D) CO, SO, and CFCs
. respectively

Which of the following can be
used for contrdlling Gaseous Air
Pollutant ?

(A) Arrestor
(B) Incineration
(C) Absorption

(D) Electrostatic precipitator

Which of the following organisms fix
nitrogen in aquatic ecosystems ?

(A) Fungi

(B) Chemoautotrophs
(C) Cyanobacteria
(D) Phytoplankton

Red data book contains data of :
(A) Dangerous species
(B} Extinctspecies

(C) Economically important

species

(D) Endangered species

Contd.
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71.

72.

73.

74

IUCN (The International Union For

Conservation Of Nature And Natural

Resources) headquarters is at :
(A) Gland, Switzerland

(B) Paris, France

(C) Vienna, Austria

(D) NewYork, USA

What is the animal symbol of W. W.
F. (World Wildlife Fund) ?

(A) RedPanda
(B) GiantPanda
(C) Tiger

(D) Kangaroo

The occurrence of pesticides like
DDT in higher trophic levels in an

ecosystemistermed as :

(A) Bioremediation

(B) Biomagnification

(C) Biological enhancement

(D) Biopollution

Which of the foliowing Indian States /
Union Territories has the maximum

percentage of mangrove cover inthe

country ?

(A) Gujarat

(B) WestBengal

(C) Andaman and Nicobar
(D) Orissa

OL-1A/25

75.

76.

77.

78.

The highest per capita emitter of

carbon dioxide in the world is :
(A) US

(B) Singapore

(C) Qatar

(D) SaudiArabia

‘Lion-tailed macaque' is the key
faunal species of which Biosphere
Reserve ?

(A)  Nilgiri

" (B) Dehang-Debang

(C) Dibru-Saikhowa
(D) Nokrek

Who said, “Earth provides enough to
satisfy every man’s need, but not
every man's greed” ?

(A) Maneka Gandhi

(B) Medha Patkar

(C) Mahatma Gandhi

(D) Sunderlal Bahuguna

What is the 2016 theme for World

Environment Day ?

(A) Raise your voice, not the sea
level

(B} Seven Billion Dreams. One
Planet. Consume with Care

(C) Gowild forlife

(D) Green Cities — Plan for the
Planet

(Turn over)
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78, The "Olive Ridley Turties’ are

80.

81.

considered to be endangered

because of their few remaining

nesting sites in the world. In this
context, which among the following
statement(s) is / are correct ?

(1) Their peculiar behaviour of
synchronized nesting in mass
numbers is known as
‘Arribada’.

(2) Gahirmatha Beach in Orissais
one of their few nesting
grounds in the world.

(A) Only1
(B) Only2
(C) Both1and2

. (D) Neither 1 nor2

The Indian Tsunami Early Warning
Centre (ITEWC) established at
Indian National Centre for Ocean
Information Sciences is located in :
(A) Chennai

(B) Goa

(C) Kochi

(D) Hyderabad

Plasma arc technology is used for the
disposal of waste, which of the
following statements is / are correct
with regard to this technology ?

() It can be used for the

disposal of hazardous
and radioactive waste.

OL -1A/25

82.

83.

84.

(i) Oxides of Sulphur and
Nitrogen are the polluting
gases produced in this
process.

(iif) This technology has not
been tried anywhere in

India.
(A) i, il and i
(B) iandiionly
(C) iandiiionly
(D) iiionly
ISO 14040 series deals with :

(A) Life Cycle Assessment

(B) Environmental labels and
declarations

(C) Environmental management
“systems

(D) Environmental performance
evaluation

Basal metabolic rate of the body is
regulated by.

(A) Thyroid hormone
(B) Insulin

(C) Pineal hormone
(D) Corticosteroid

What is the functibn of hydrochloric
acid in stomach ?

(A) ltkills the bacteria which enters
to the stomach with food

(B) Itabsorbs harmful toxins

(C) It converts the food into
semisolid liquid form

(D) lthelps in purifying the blood

Contd.
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85. Myopiais alsoknown as A 90. Which of the following is used for
({A) Farsightedness communication, weather forecasting
(B) Poorsightedness and remote sensing ?
(C) Extreme sightedness (A) Natural satellites
(D) Nearsightedness (B) Artificial satellites
86. Acid rain is caused by increase in the (C) Space shuttles
| atmospheric concentration of : (D) Supper computers

(A) Ozone and dust
(B) SOandNO
(C) SOandCO
(D) COandCO

91. Electric generator is a device which
converts . energy into

energy.

(A) Mechanical, electrical

87. Migration of cancerous cells from the (B) Electrical, electronics

site of origin to other part of the body (C) Electrical, chemical

forming secondary tumours is called

" (D) Electrical, mechanical
Diapedesis '

(B) Metastasis 92. Nails, scales and bones are :
(C) -Proliferation (A) Biodegradable
(D) None of the above (B) Non-Biodegradable

88. Choose the best fire extinguisher : (C) Bioaccumulative

(A) Oxygen (D) None of the above

(B) Water 93. The testis, male gonad, is located
(C) Carbon dioxide inside the scrotum in order to keep
(D) Blanket testicular temperature :

89. Rockets are designed to carry : (A)  Higher than body temperature

(A) Payloads | (B) Normal asbody temperature
(B) Scientific instruments (C) Lowerthan body temperature
(C) Satellites | (D) Depending on environmental
(D) Allof the above changes

OL - 1A/25 (13) ( Turn over)
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94.

9%.

96.

Destruction of trees and forests is

called deforestation. Deforestation is
the cause of

(A) Decrease inrainfall

(B) Increase in soil erosion

(C) Greenhouse effect

(D) Ailoftheabove

Soap and detergents help remove
dirt from cloths. It does so because
of having two paris :

(A) Hydrophilic, neutrophilic

(8) Both the hydrophobic

(C) Hydrophilic and hydrophobic
(D) Neutrophilic, hydrophobic

Fermentation is a process in which :

(A) Organic compound is slowly
decomposed into simple
substances in presence

of 02

(B) Organic compound is slowly
decomposed into simple

~ substances in absence of O,
(C) Simple

polymerized into complex

substances is

substances

(D) Allof the above

97. We observe objects around us due

98.

90.

100.

to:

(A) Refraction of light
(B) Reflection of light
(C) Absorption of light
(D) Allofthe above

Losing eye sight after consuming
spurious liquor (bhejal) is due to its
aduiteration by :

(A} Methanol

(B) Acetaldehyde

(C) Drug

(D) Acidic moiety

Fuse wire of appropriate thickness
improves its efficiency to prevent

damage. These wires are made up
of :

(A) Purezinc

(B) Purelead

(C) Alloy of lead and tin
(D) Alloy of lead and zinc

Instrument used to observe changes
in solar system s :

(A) Hubble telescope

(B) Electron telescope

(C) Microscope

(D) BothBandC

OL-1A/25
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